S TANLGASTLD 5520 Nordic Drive

Cedar Falls, lowa 50613 USA

GOLF zanmvis bhors; 3192662638
© LAMPANYAY Fax: 319.266.9627

Key Number/Iltem Description/Quantity/Part Number

N wWwN —

O 00 N O

11
12
13

14

57-1/2" Bent Handle
Handle Grip
Twist Brace
Gusset Brace
Frame Assembly
24"
36"
48"
1/4-20 X 1-3/4” Bolt
1/4-20 Nylon Lock Nut
1/4-20 X 5/8” Bolt
1/4-20 X 1-1/2” Bolt
5/16-18 X 5/8” Stainless Steel Bolt
5/16” Stainless Steel Lock Washer
1/2” Stainless Steel Axle
Roller Head
24"
36"
48"
Hook

—“ NN — —

- NNN—=KNOOOW

MAGNUM
ROLLER SQUEEGEE

71324

71351
71156
71152
71151

71326
71338
71350
71153
71154
71155
71355
71352
71353
71354

71325
71337
71349
71356

PMMRS-71324-A



